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A 1 in. diameter aluminum rod becomes 0.007 in.
longer due to 1500 Ibf tensile load. What is the rod’s
initial length and change in radius?
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33. Determine the change in length of the steel wire.
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33. Determine the change in length of the steel wire.
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101. A steel rod (E =210 GPa, a.= 11.7x10-6 °C-1) is a'
~ constrained and heated. What is the stress induced by a
40°C increase in temperature? (Vital wevle Concept)
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101. A steel rod (E =210 GPa, a.=11.7x10"6°C1) is
~ constrained and heated. What is the stress induced by a
40°C increase in temperature?
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104. Find the maximum shear force and its location.
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104. Find the maximum shear force and its location.
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37. Sketch the shear and bending moment diagrams.
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* “y” is measured from the neutral surface
* “I” is calculated about the neutral surface
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37. Sketch the shear and bending moment diagrams.
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